At R

PR{RBYI%EE — MSQC » MSQL » MSQE %75l CHELIC,

O MSQC R5I #IREIIEEIR (5 F)

NEIRE
BER| T8 e A B C G L 2 | ANEmEE 2
@D | Rc (PT) H mm?2 (@
M3x0.5 MSQC 4 — M3 3.5 15.2 3.9 8 16.9 8 1.33 2.8
@4 | M5x0.8 MSQC 4 — M5 Bi5 15.1 3.9 8 16.9 8 4.91 3.3
1/8 MSQC 4 - 01 6 11.4 3.9 8 14.5 10 6.16 5.2
%G 26 M5x0.8 MSQC 6 — M5 4 16 3.9 8 18.1 10 4.91 4.3
‘ 20 1/8 MSQC 6 — 01 6 13.9 3.9 8 17.1 10 15.9 7
9 2
T KERE
T f o P P 3 =
H L ER| TE& e A B C 7G L 2 | ANEmEE =
\ @4 @D | Rc (PT) H mm2 (@)
M3x0.5 | MSQC 5/32"-M3| 3.5 15.2 3.9 8 16.9 8 1.33 2.8
| e |
< ‘H:”,i' 5/32" | M5x0.8 | MSQC 5/32" - M5 | 3.5 15.1 3.9 8 16.9 8 4.91 3.3
R 1/8 MSQC 5/32” - 01 6 11.4 3.9 8 14.5 10 6.16 5.2
O MSQL &5 #{RLEEEE
NHRE
&E | FE e AlB|lc|E|lag| L | e [sumas m=
@D | Rc (PT) H mm? @
M3x0.5 MSQL 4 - M3 3 16.3 | 11.5 | 14.2 9 14.3 8 1.33 3.7
a4 M5x0.8 MSQL 4 — M5 3.5 | 16.7 | 115 | 14.2 9 14.9 8 3.8 4
1/8 MSQL 4 -01 6 20.3 | 115 | 14.2 9 18.8 10 3.8 7.9
26 M5x0.8 MSQL 6 — M5 & 20.1 | 13 |16.3| 11 | 233 10 4.91 7.1
£ 1/8 MSQL 6 - 01 6 20.1 | 13 |16.3| 11 | 237 10 15.9 7.8

*T e

H Pl M3x0.5 | MSQL5/32"-M3| 3 |16.3 | 115|142 | 9 |14.3 8 1.33 3.7
RS 7?7 5/32" | M5x0.8 | MSQL 5/32"—M5 | 35 |16.7 115 (142 | 9 |149| 8 3.8 4
1/8 | MSQL5/32"-01 | 6 |203|115|142| 9 |188| 10 3.8 7.9

O MSQE 3l #MTE=\EEE

AR
B il © @d E1 E2 aG AREEN | EE
@D1 | @D2 mm?2 (C))
@4 @4 MSQE 4 — 4 4 3 11 3 9 5.3 3.7
@6 @6 MSQE 6 — 6 4 3 125 | 35 11 5.3 7.1
- B @6 @4 MSQE 6 — 4 4 3 125 | 35 11 5.3 5
8 a@d ‘ el
S -]
Jw?m;:¥}kgi; S5 R
? @i iga; =g £ =
H LS C | @d | B1 | B2 | g | PRMEER | EE
@D1 | @D2 mm ()]
: 5/32" | 5/32" |MSQES5/32"-5/32" 4 3 11 3 9 5.3 3.7

@D1

4-1.40



AL R

K{RBYI%EE — MSQT » MSQH » MSQR %75 CHELIC,
O MSQT &5l FRIRTE ZiHEEE
NHIRE
BE| FE = Albe |l clElas| L | o2 Axumn =2
@D | Rc (PT) H mm? (9)
M3x0.5 | MSQT4-M3 |33 |166|106| 14 | 9 |148| 8 1.33 37
@4 | M5x0.8 | MSQT4-M5 |33 |166|106| 14 | 9 |148 3.8 4
1/8 MSQT 4 - 01 6 [194|106| 14 | 9 |17.8| 10 3.8 7.9
26 M5x0.8 | MSQT6-M5 |35 |19.8 | 121|158 | 11 |16.9| 10 491 7.1
1/8 MSQT 6 - 01 6 |212|121|158 | 11 [18.6| 10 15.9 7.8
8
- BRI
ER TE& y B | BANEmEE g2
@D | Rc (PT) s A = e B 2]k H mm2 (9)
5/32" | M3x0.5 |[MSQT 5/32"-5/32"| 3.3 |16.6 |106| 14 | 9 |148| 8 1.33 3.7
C MSQH H%| #RRB—@EiZTE
NHIFRE
B BREEE | 28
1)
o o it C1 Cc2 B 2G L o ©
o4 @4 MSQH 4 - 4 106 | 106 | 11.3 9 225 53 3
26 @4 MSQH 6 - 4 121 | 106 | 127 | 11 253 53
26 @6 MSQH 6 - 6 121 | 121 | 128 | 11 25.6 15.9 5
r£$
1 e
éb L}rjm, . g{ RIIRIE
I BE BREEE | =8
)
o L‘Cz g P R B 5 c1 | c2 E | @G L e =
5/32" | 5/32" |MSQH5/32"-5/32" 10.6 | 10.6 | 11.3 9 225 53 3
©C MSQR 5 #{RE —EFRIEE
N HIRE
BE| T e cilcl B lage | L |22 |t sxewmEs =2
@D | Rc (PT) H1 H2 mm?2 ()
@4 | M12x1 MSQR 4 -4 106 | 3.9 |161 | 9 [39.7 | 14 | 14 5.3 7.1
@6 | M12x1 MSQR 6 - 6 121 | 39 |16.9 | 19 |431| 14 | 14 15.9 7.8
Mj E
%m SR
J Cefr b (B8 FE e o1l & loo| L |52 | te [axean =8
g ﬁj @D | Rc (PT) Hi1 H2 mm?2 (@)
o = ”1L”2 <2 5/32" | M12x1 |MSQR5/32"-5/32"/10.6 | 3.9 [16.1 | 9 [39.7| 14 | 14 5.3 7.1

4-1.41

sQU]
HERT

MsQ[]
ARELEER

SP[]
FEE R

sQUlJ
EERER

SQR[]
Wik

sQG
B EHEE
RQL
La

ek Ee3-r

MO
18/ B

TEMIER

#1128

LBz

fsc
FER

Qs[]
PR

QMC
3]
FEIER
QT
KEHE s
HERETRR

QH[J
FENFIRA

Qv
R

QST
EHRL
FEIER

PUZ



At R

RORBYIZEEE — MSQB » MSQJ &% CHELIC,
© MSQB &5l Ef.EIIEE (4b5F)
DHIRE
ER OFE \ 2 | BREEE | S22
]
@D M 2x A 2 ¢ ek H mm2 (9)
@4 | M3x0.5 | MSQB4-M3 | 33 | 153 | 106 | 8 | 17 | 15 2 2.8
M5x0.8 | MSQB4-M5 | 3.3 | 153 | 106 17 | 25 5.4 33
18 MSQB 4 - 01 6 | 114 | 39 | 10 | 145 | 3 7.8 5.2
@6 | M5x0.8 | MSQB6-M5 | 33 | 165 | 39 | 10 | 183 | 25 5.4 43
18 MSQB 6 - 01 6 | 14 | 39 | 10 |172] 4 13.8 7
@D
KERE
i BE| F& HE | ANEER | EE
i) A | B | C|@G| L
= @D M = H mm? @
e an 5/32” | M3x0.5 |MSQB5/32"-M3 | 3.3 | 153 | 10.6 17 | 15 2 28
L M5x0.8 |MSQB5/32" -M5 | 3.3 | 153 | 106 | 8 | 17 | 25 5.4 23
I Il
< 18 |MSQB5/32 -01 | 6 | 114 39 | 10 | 145 | 3 7.8 52
2G
&)
s
[s] —
©C MSQJ R3%| 45 #%58
DR
gE| 7@ , e | ANWEE | BE
i)
@D M 2 A 2 € | =e c H mm2 (9)
M3x0.5 | MSQJ4-M3 | 3 123 |106| 9 |256 | 1.5 2 3
@a |M5x0.8 | MSQi4-M5 | 35 |12.9 | 10.6| 9 | 26.2| 25 5.4 3
PT1/8" | MSQJ4-01 | 6 |168|106| 9 | 30 | 3 7.8 8
g6 |M5x08 | MsQi6-M5 |35 [157| 12 | 11 | 313 25 5.4 8
PT1/8" | MSQJ6-01 | 6 |164| 12 | 11 | 32 | 4 13.8 8
IR
gE| 7@ ) e | ANWEE | BE
A | B | Ccl@gc| L
@D M & H mm?2 ()]
5/32" | M3x0.5 |MSQJ 5/32"- M3 | 3 |12.3 | 10.6| 9 | 256 | 15 2 3
o M5x0.8 |MSQJ 5/32"- M5 | 3.5 | 12.9 | 10.6 | 9 | 26.2 | 2.5 5.4 3
PT 1/8" | MSQJ5/32"-01 | 6 |16.8 | 106| 9 | 30 | 3 7.8 8

4-1.42



	As_unlocked_部分1017
	As_unlocked_部分1018
	As_unlocked_部分1019

